REX

FA¥EFaA7ZFYIL
ARIN= )L Ly—x
RC90-130-180-6B

ab an fill 1% R

2% 20084 4A

RC180 - 6B

B R

1. RC90 A{FER

2. RC90 E—4&}

3. RC90 ¥}

4. RC9O X#&p

5. RC130 A&{&KIf

6. RC130 £—4#}

7. RC130 &

8. RC130 A&

9. RC180-6B A&}
10. RC180+:6B E—4#}
11. RC180-6B X &
12. RC180-6B X B
13. $3K2 O 8B

REX

BE#HH:2016.07.01



1. R/3—/7JL RC90
AT

E#7H :2016.07.01



1. R/3—/7 )L RC90
AR

HNE| BAES B £ WE| FEE(E W E
1] C119 [EYE 2 1,260
2| C106 [EY/N\UERILKRR 1 4100
3| C136 [:EY/\2FIL (RC90HMA) 1 1,680
4 FNAFATERILE (M8 X 25) 1 130
5 CR L& (BHA 15) 2 130
6| ZO6A |&Em (6002UU) 2 780
7| C105 [EYU/NTF)LEE 1 3,150
8 NATUFETSUORILE (M5 X 25) 4 260
9| C150 |AAIL—IL B(X) (NOK AE2651A) 1 1,790
10| C151 [AAIL—IL AUN) (NOK AE2643A) 1 1,790
11| C152 |¥¥Hh/\— 1 25,200
12 NANGELEHRL (#5%% M6 x 18) 1 130
13| C166 |¥¥~7—X 1 36,750
14| C141 |/R—JL/\)LD (RC90F R1/4) 1 4,940 avy Be
15 NANGELEHRL KIFH%E M8%x10) | 4 130
16| C109 |O—S#H(K) 2 530
17| €311 |B—5(K) 4 250
18 NATUTERILE (M6 x 30) 4 130
19 NATYE (M8) 4 130
20 NANHGELEHRL (#5E M8 x 25) 2 130
21| C104 [BBFE 1 5,880
22 C107 [RSAF#R 2 700
23 =% (2% 15) 1 130
24 Efz1E &HiRm (6) 4 130
25| €312 [(O—5WUh) 4 230
26| C314 |O—>#h(%E) 4 890
27 €310 [RbyT /D 1 1,160
28 C128 |[iFHa (WR10-15) 1 320
29 FEE (8) 1 130
30 NANFELEHRL (#5E M8 x 22) 2 130
31| C108 [HAIR 2 530
32 €318 [Twia 6 140
33
34
35
36
37
38
39
40

BE#HH : 2016.07.01




2. RZ/1\—%r )L RC90
E—HER

B H:2016.07.01




2. R/\—/1)L RC90

E—42Ef
HNE| BAES & 2 WE| 1SR
1| C166 |¥¥~7—X 1 36,750
2| C154 |R7ULY5 (6000VV) 1 1,790
3| C169 |77 HAR 1 1,160
4| C168 |7XFa7 (100V) 1 25,200
5 NAZVE L (D5 X 65) 2 260
6| C170 |RT—% (100V) 1 8,190
71 C171 |V—FIE4H 2 570
8| C172 |RN7ULY (608VV) 1 1,030
9| C167 |RF7UTAvYy 2 130
10| 2A16 |HITRTFTvh— 1 420
11| C174 |h—HKRoFxvyT 2 740
12| zco1 |ph—ihr IS5 (24 148) 148 840
13| C175 |h—ARURILE 2 2,730
14| C173 |1y 1 10,290
15 NANGELEDHRL (M5x8) 2 130
16 FEE (5) 4 130
17 NATUTERILE (M5 % 30) 4 130
18| C177 |®*—LTL—Fk 1
19| 2A15 | RERTYH— 1 740
20 avEr L (D4 % 16) 2 130
21| €133 [a—Ki®z 1 160
22| 7021 [a—FJwia 1 530
23| 2A21 [ZE:#gL—L 1 130
24 C132 [FEI—IL 1 130
25| C137 [RAyFHNN—FI—IL 2 130
26 NAURAZYERLCA (D4 X25) 2 130
27 Cc112 [RA4vFFx¥yT 1 250
28| C118 [¥—FvwhTOTH% 1 5,780
29 +FFENIERL (M3X8) 2 130
30| C178 [RAvFH—ZR 1 3,470
31| C333 [F¥TaAVva—Fk—=HA 1= 2,520
32| C134 |[2PRhKkTSS 1 1,260
33| Cl142 |[FoTH4R (RCO0A) 1 6,830
34| C143 |[FoFo4L (RC9O0A) 1 6,830
35 ANATUTERZUARILE (M6 X 15) 4 130
36 NATUTERILE (M6 x 45) 1 130
37| zC30 |[BUEF1—T (70mm) 1 340
38
39
40

BEHHE : 2016.07.01




3. R/8—4 )L RCY0
&R

X% | BAES B & % WE| 1ZEHEE
1| C153 |[REVEFIL 1 28,350
2| 75S32 |0y (S32) 2 190
3| €157 |ARY—T 1 6,090
4| C158 |R7ULY (620522) 2 1,580
5 CHz LR (7% 52) 1 570
6| C159 |”RY—T 1 1,790
7| €160 |RUYTTL—F 2 450
8| C161 |95vyFIL—k (JOTARZR) 2 260
9| C163 |Z7A4FIILF¥Y 1 7,980

10| C162 [AZ2JL(A) 1 630
11 miE+a (17 %46 % 2) 2 130
12| C164 |TA4RFAVEE—X 1 890
13| WEF1 |74 UFvk (17) 1 3,470
14| C165 |[RXF7YLy (6001VV) 1 980
15| C154 |R"7YLy (6000VV) 2 1,790
16| C182S |EAVKRE=#>-F¥tvb 1% 13,230
17| C152 |¥¥h/\— 1 25,200
18| C166 |¥¥H¥—R 1 36,750
19

20 E#7H :2016.07.01




4. R/\—/7 )L RC9O
AR

HE|(HRES 3 & & HE| IZEHE
1 ARV (W5/16 X 55) 4 130
2 vk (W5/16 X 55) 4 130
3 TEE (8x16%1.2) 3 130
4 [FHEE (8) 3 130
5 ARV (M8 x 60) 2 130
6| C101 |R—X 1 21,000
7| C110 |X#rtE= 1 2,100
8 AT TEY (4%10) 2 130
9 FNAFUTERILE (M6 x 8) 3 130
10| C102 |X# 1 12,600

11| Cl111 |XHETE 1 1,790

12| C103 |5v% 1 6,930

13 AR (M8 x 55) 1 130

14| C139 [BEEI—IL (L:275mm) 1 350

15| ©209 |/Kui/Svk M (RC90-130M) 1 9,240

16| C135 [|/SwhiBZ 90 (RCO0H) 148 7,880

17

18

19

20 F#7H:2016.07.01




5. A/\—%4JL RC130
AEER

E#7H :2016.07.01



5. R/13\—/r )L RC130
AR

HNE| BAES B £ WE| 1ZEEM
1] C119 [EYE 2 1,260
2 NAFSERILE (M8 x 25) 1 130
3| €307 [EY/NUEILEKRR 1 4520
4 CR L& (BHA 17) 2 130
5| 7069 |&#= (6003UU) 2 1,470
6| C305 [iEY/\UK)LEE 1 4410
7| C306 [FEYU/NTFIL 1 1,260
8 NATUFETSUORILE (M6 X 25) 4 260
9| C150 |AAIL—IL B(X) (NOK AE2651A) 1 1,790
10| C151 [AAIL—IL AUN) (NOK AE2643A) 1 1,790
11 NANGELEHRL (#5%% M6 x 18) 1 130
12| C220 |¥¥h/\— 1 32,550
13| C225 |¥¥H—XR 1 48,300
14| C332 |/R—L/\JLT—=K (R1/4) 148 4,940 avy Be
15 NANGELEHRL (KIXA5E M8%x10) | 4 130
16| C204 |BHF= 1 7,560
17 NATUTERILE (M6 x 30) 4 130
18 NATYE (M8) 4 130
19 NANGELEHRL (#5E M8 x 25) 2 130
20| C205 [RSAF#x 2 730
21 =% (2% 15) 1 130
22 C311 [B—5(X) 4 250
23| C313 [O—S#E(R) 4 560
24 C210 [iF4a (RC130A) 1 320
25 TEE (8) 1 130
26 Ef 1L (6) 4 130
27| C312 [(O—5WUNM) 4 230
28| C314 |O—>#h(%E) 4 890
29[ €310 [RbyT/D 1 1,160
30 NANFELEHRL (#5E M8 x 22) 2 130
31| C309 [##Z#R 2 570
32 €318 [Twia 6 140
33
34
35
36
37
38
39
40

B H:2016.07.01




6. A/\—4JL RC130
E—HER

B H:2016.07.01




6. A/\—%JL RC130

E—42Ef
HNE| BAES B & 4% WE| 1ZEEM
1| C225 |¥¥~7—R 1 48,300
2| ©230 |77 AHAR 1 1,160
3| 1202 |R7PYLY (620122) 1 860
4| C372 |RN7yoovy 1 260
5| C229 |7XRFa7T (100V) 1 30,450
6 NAZVE L (D5 X 65) 2 260
7| C154 |RFYLYy (6000VV) 1 1,790
8| C167 |R7ysAvy 1 130
9| €231 |RF—% (100V) 1 10,290
10| €232 |)—FIEt 2 530
11| 2A14 | ITRFTvh— 1 500
12| NM17 |h—HRoFeyT 2 740
13| ZC03 |h—HRrI5 (24 148) 148 1,160
14| C235 |h—iRRILE 2 1,580
15| ©233 |1\ y 1 11,550
16 avEr L (D4 % 16) 2 130
17| C133 |a—F#xz 1 160
18| 7021 |a—kKJwia 1 530
19| C132 [FEI—I 1 130
20| 2A21 |ZE#g—IL 1 130
21| C208 |[—FvyrTOTH4A (NRAR1100F 13A) 1 12,600
22 C317 [RA4AvFFx¥yT 1 250
23| 2A13 |[KRIEKRTYH— 1 840
24 NATUTEIEDHRLE (M5 x 8) 2 130
25 NATUFTETISURILE (M5 X 40) 4 260
26| €236 [R—LTL—Fk 1
27 T+ FTENIERL (M3 % 6) 2 130
28 [ €237 [RA4AvFH—R 1 3,470
29 INAVRZYEVRLA (D4 X 25) 2 130
30| C134 [2PRhkTSSH 1 1,260
31| C333 [F¥TaAVva—Fk—=HA 1= 2,520
32| C241 |[FoTH4R (RC130R) 1 7,250
33| C242 |[FJoFo4L (RC130R) 1 7,250
34 NATUTERIVARILE (M6 X 15) 4 130
35 FNAFATERILE (M6 x 55) 1 130
36| ZC30 [BfEF1—7 (70mm) 1 340
37
38
39
40

B H:2016.07.01




7. R78—/)L RC130
&R

RE| BRES B & % W= | ZHEHE
1| C221 |REVEIL 1 32,250
2| 75832 |0 45 (S32) 2 190
3| €157 |RY—T 1 6,090
4| C158 |7 YUY (620522) 2 1,580
5 CHz1E iR (% 52) 1 570
6 CHz IR (Eh A 25) 1 130
7| C224 |J7AFILFxY 1 10,190
8| €369 |ZzH—*%F— (5%5%15) 2 320
9| 1202 |[R7YLy (620122) 1 860

10| C154 |_"7 Y 45 (6000VV) 2 1,790
11| WEF1 |274>UF vk (17) 1 3,470
12| C365 |Tvi+(F) (17X 24 x2) 3 260
13| WJ46 |MiE4 (17x 46 %x2) 2 130
14| €160 [RUvTTL—F 2 450
15 €161 [95yFIL—Fk (VT ARNZR) 2 260
16| C367 [EA KXY 1 5,360
17| C162 [A%JL(A) 1 630
18| €226 |7vi+(B) 1 260
19| C227 |H—FE=#> 1 13,650
20| C165 |[R7YL45 (6001VV) 2 980
21| ©238S [EAVKRE=H>-F¥tyk 1#8| 13,650
22| €220 |¥Ah/A— 1 32,550
23| €225 |¥¥H—R 1 48,300
24 B #HH:2016.07.01




8. A/\—%rJL RC130
AR

—— e - - ———

e m

HE|(HRES B & % WE| 1ZEHEE
1 AR (W3/8 % 75) 4 130
2 vk (W3/8) 4 130
3 FREE (STHFH10) 3 130
4 [$HEE (10) 3 130
5 AR (M10 x 80) 1 140
6| C201 |R—= 1 29,400
7| C315 [Z#LEE 1 2,310
8 AT)VUTEY (4%10) 2 130
9 NAFIFERILE (M6 % 10) 3 130

10| C202 |X# 1 17,850
11| C316 |ZHT= 1 2,000
12| C203 |5v¥ 1 7,670
13 FNARILE (M10 % 70) 2 130
14| C214 [BEI—IIL (L:300mm) 1 400
15[ C209 [/KALIE/ Yk M (RC90-130A) 1 9,240
16| €322 |/\yk#Z 180 (RC130-180-6BF) | 140 | 10,290
17

18

19

20 E#7H :2016.07.01




9. R/3—’7)L RC180-6B
AAER

E#7H :2016.07.01




9. R/3—%)L RC180-6B
AR

HNE| BAES &R £ WE| 1SR
1] C119 [EYE 2 1,260
2| C307 [FEY/N\UEILKRR 1 4,520
3| C306 [EYNUERIL 1 1,260
4 NAFUTERILE (M8 X 25) 1 130
5 CR L& (BHFR 17) 2 130
6| 7069 |#H5Z (6003UU) 2 1,470 i A AR S — LS
7| C305 [EY/\UK)LEE 1 4410
8 RAFRHEISUURILE (M6 X 25) 4 260
9| C150 |AAILI—ILB(K) (NOK AE2651A) 1 1,790
10| C151 [AAJIL—IL AUN)  (NOK AE2643A) 1 1,790
11 NANHELEHRL (% M6X18) 1 130
12| C350 |¥vh/\— 1 32,550
13| C371 |¥¥~7—XR 1 50,400
14| ZF60 |®)vhk (M6) 1 260
15 (FHER (6) 1 130
16| C352 | ThL/N— 1 1,470
17 RILED v % (6) 2 130
18| €332 [R—JL/\JLT—H (R1/4) 1%H 4,940 avy - Ba
19| €353 |RSAKI¥Tk 1 12,600
20 NAFFELEHRL KIFA%EM8x10) | 4 130
21| C308 [RSAF#x 2 890
22 C311 [B—5(X) 4 250
23| C304 [BbFE 1 8,610
24 NATUTERILE (M6 % 30) 4 130
25 NATYE (M8) 4 130
26 NANHEILEHRL  (B% M8 X 25) 2 130
27 NATUTERILE (M6 X 20) 2 130
28 =% (2% 15) 1 130
29 C313 |[O—S#(E) 2 560
30 Ef 1L O (6) 4 130
31| c312 [@—50) 4 230
32| C314 |[o—>#(%E) 4 890
33 HHEk (6) 1 130
34| €379 [iFH 1 260
35 BRI RLC (2 M8 x8) 1 130
36| C128 [IF4 (WR10-15) 1 320
37 TEE (8) 1 130
38| €310 [RbYT/D 1 1,160
39 AANFELESHRL  (Fk M8x22) 2 130
40| C309 |#HZ#R 2 570
41| C318 |Twia 6 140

B H:2016.07.01




10. R/\—4JL RC180-6B
E—ARER

E#7H :2016.07.01




10. R/\—%r)L RC180-6B

E—42Ef
HNE| BAES B & % WE| 1ZEEM
1| C371 |¥¥H¥—2X 1 50,400
2| €375 |77 HAR 1 1,160
3| 9M30 |RFULY (620222) 1 960
4| C372 |RN7yoovy 2 260
5| C374 |7=Fa7 (100V) 1 36,750
6 NAZVE L (D5 % 80) 2 260
7| S701 [RF7UYLG (6200Z22) 1 580
8| €376 |RT—% (100V) 1 12,080
9| €377 |UV—FIEh 2 570
10| €378 |1\ 1 14,700
i1 L2A12 Y IR Tyh— (RC180A) 1 530
2A18 | YT RTFYH— (RC6BMA) 1 530
12 RANHEIEHRL (M5 % 8) 2 130
13 NANRMAETSUORILE (M6 X 40) 4 260
14| €381 |h—ARURILAE 2 2,100
15| 7C02 |h—HRr TS5 (24 148) 148 1,160
16| FM17 |h—HRoFvyS 2 1,050
17 |2A1 AERTvh— (RC180A) 1 840
2A17 | RERTYH— (RC6BA) 1 840
18| €382 |®r—LTL—Fk 1
19 avEr L (D4 % 16) 2 130
20 C133 |[a—F#xz 1 160
21| 7021 [a—FJwia 1 530
22 C132 [FEI—IL 1 130
23| 2A21 [ZE#EBI—IL 1 130
24| C317 [RAYFFx¥vS 1 250
25| €320 [—FvyrTOTH4 (NRAR1100) 1 12,600
26 T+ FTENIERL (M3 % 8) 2 130
27| €383 [RAvFH—ZR 1 3,780
28 NAVREYE RLCA (D4Xx25) 2 130
29 C333 [F¥¥THAYVva—Fk—=HA 1= 2,520
30| C134 [2PRhkTSSH 1 1,260
31| €341 |[FoTY4R (RC180-6BA) 1 7,560
32| €342 |[FoFou4L (RC180-6BA) 1 7,560
33 NATUTERIVARILE (M6 X 15) 4 130
34 NATUTERILE (M6 x 55) 1 130
35| zC30 |[BUEFL—T (70mm) 1 340
36
37
38
39
40

B H:2016.07.01




11. Z\/{—’T)lz RC180-6B
T &R

BE#HH :2016.07.01




11. R/\—%r)L RC180-6B

&

HNE| BAES B & 4 WE| 1SR
1| C351 |REVKIL 1 34,650
2| 75832 |oUy (S32) 2 190
3| €157 |RY—D 1 6,090
4| C158 |RN7UYLY (620522) 2 1,580
5 CH 1L &% (7%H 52) 1 570
6 CR L& (BHFR 25) 1 130
7| C357 |E# (24%33%2) 2 320
8| €358 |A42)L(B) 1 760
9| €359 |Z7AFILF¥(H) 1 17,850

10 CR L& (BHFR 24) 1 130
11| €360 |hyT)os 1 18,900
12| C361 |[E® (20X 33 % 2) 2 260
13| C162 |A%JL(A) 2 630
14| €363 |Z7A4FIIL¥¥ (L) 1 18,900
15 CRIE & (B4 AR 20) 1 130
16| 1202 |R7UYLY (620122) 3 860
17| WEF1 |74 UF vk (17) 1 3,470
18| €365 |EX(F) (17%24%2) 1 260
19| C369 |7zH—%F— (5x5x15) 1 320
20 €366 |[vhUFE=#A>(H) 1 11,550
21| WJ46 |MiEt (17 %46 x2) 2 130
22 €160 [RUYTTL—k 2 450
23| C161 [9Z5vyFIL—Fk (/T ARZAR) 2 260
24| C367 |[th KXY 1 5,360
25| €368 [TA4RHVRE—XR 1 1,470
26| C370 [U—FE=—#> 1 11,550
27| S701 [RFULY (620022) 2 580
28 | C384S |[th FE=#>-F¥+tvk 158 13,650
29| €350 |FvH/N\— 1 32,550
30 €353 [RSAKI Tk 1 12,600
31| C371 [¥F¥4¥r—X 1 50,400
32

33

34

35

36

37

38

39

40

B H:2016.07.01




AR

12. R/\—%r)L RC180-6B

HE| BaES &B £ HE| IZEHE
1 FNARILE (W1/2 % 75) 4 180
2 vk (W1/2) 4 280
3 TEE (A FH.10) 3 130
4 [FhEE (10) 3 130
5 AR (M10 % 80) 2 140
6| C301 |[R—Z 1 33,600
7| C315 |[X#EEE 1 2,310
8 RATIIGEY (4x10) 2 130
9 FNAFUTERILE (M6 X 10) 4 130

10 €802 T (RC180R) 1 19,950
C402 |X# (RC6BH) 1 19,950
11| C316 |ZHTE 1 2,000
C303 |Zv¥H (RC180R) 1 8,300
12 2
C403 |Z5v¥H (RC6BA) 1 9,770
13 AR (M10 % 70) 1 130
1 C331 BB —IL (RC180F L:310mm) | 1 420
C426 (BB —IL (RC6BFE L:420mm) | 1 480
15| €321 |/KME/ vk L (RC180-6BfA) 1 9,980
16| C322 [/whiRZ 180 (RC130-180-6BFH) | 140 | 10,290
F#7H:2016.07.01




13. XR/3—4 )L RC90-130-180+-6B
$a KR O ER

RE|(HAES B & & = | IREEET

1| C517 |#voKk (12L) 1 —
2| C510 |RoTI¥Thtvbk 148 5,150
3| €507 |RoFTxryTtvk 148 1,790
4| €508 |BvHL—ILiRwFy 1 550
5[ €509 |ERREEYE (26mm) 148 550
6| C513 |RoTLUo&tyb 148 3,470
7| C511 |#FIEHFRILTEYE 148 1,580
8| C512 |#HiEHFEEVE 148 480
9| C514 |BEFRLHFIEVL 148 1,050
10| C516 |h—AEtVh 148 7,350
11| C515 |R—jL/N\Ld 1 2,940
12| zP02 |FhOVTL—KhR—R 1 320
13| ZJ19 |BE/NUKR 1 240
14| C518 |/AvKtyk 148 1,580

15 R—RTvH 1 -

F#7H:2016.07.01




